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Question Number : 1 Question Id : 2549896417 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In Microsoft Windows, when you point to a button, its function will display in a

Options :

1. % Screen Alert
2. ¥ ScreenTip
3. # Screen Bar

4. % Screen List
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:N.A Think Time : N.A Minimum Instruction Time: 0
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Question Number : 2 Question Id : 2549896661 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the fastest memory?

Options:

1. % Secondary memory
2. % Auxiliary memory
3. ¥ Cache memory

4. * Virtual memory
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ® mrergAfch AFRY (Secondary memory)
2. % ggrges AARI (Auxiliary memory)

3. ¢ S AFRY (Cache memory)

4, % A AERY (Virtual memory)

Question Number : 3 Question Id : 2549896786 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
is/are used to control and coordinate computers that are networked or linked together.

Options :

1. * Application software

2. ¥ Network operating systems (NOS)
3. ¥ Embedded operating systems

4. *# Stand-alone operating systems
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Options:

1. ¥ QUAThIH GithediR

2. ¥ AceRe Sifaef afed (NOS)
3. ¥ UdSe SiuRef afen

4. % qEe-orei ArRef aREE
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Correct Marks : 1 Wrong Marks : 0

In Computer Science, when two pieces of data are compared to see whether one is equal to (=),



less than (<), or greater than (>) the other, it is a:

Options:

1. % graphic operation
2. * logical operation

3. # arithmetic operation

4. + relational operation
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Options :

1. ¥ TRIthich TR
2. ¥ drstfehel TR
3. ¥ aRfYHefd =

4, « FATST MR

Question Number : 5 Question Id : 2549897315 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of following is responsible for all major activities of Linux operating system?

Options :
1. # Shell

2. % System library



3. # Compiler

4. + Kernel
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Options :

1. % 9

2. % gfed amgad
3. # hUER

4. ¢ e

Question Number : 6 Question Id : 2549897506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
By using which tab can you add OLE object in an OpenOffice writer?

Options :
1. * View
2. ¥ Insert
3. % Edit

4. # File
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
T.=ag

2. ¥ §Re
3. % gefe

4. % w3

Question Number : 7 Question Id : 2549899342 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Magnetic Ink Character Recognition is often used for:

Options :

1. # photographs
2. * barcodes

3. ¥ bank cheques

4. % medical reports
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Options :



2. ¥ gRpIgH
3. ¢ d&h Ik
4, % Aefoha AUReH
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is the amount of time it takes the computer processor to read data from

the memory?

Options :

1. % Memory access time
2. * Roundtrip time

3. ¥ Turnaround time

4. # Througput
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Options:
1. ¢ BARY Qohdd T1gH
2. ¥ I3 XU 9wy

3. # T RIS 23H



4. % Ige

Question Number : 9 Question Id : 25498911596 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A permanent memory that stores data and instruction to start-up the computer and does NOT

erase data after power-off, is called:

Options :
1. # network interface card
2. % CPU
3. #* RAM

4. ¥ ROM
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Options :

1. ¥ TRk DY HRS

2. ® Hidyg (CPU)
3. # W (RAM)

4.+ 39 (ROM)

Question Number : 10 Question Id : 25498918686 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following commands, when typed into the Start search box, is used to open Registry

Editor in Windows 107?

Options :

1. * reseditor

2. ¥ registry.edit
3. ¥ registryeditor

4. ¥ regedit
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Options:

1. # reseditor

2. ¥ registry.edit
3. * registryeditor

4. ¥ regedit
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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is an example of Electro photographic printer.

Options :



1. % Laser
2. #* Dot-matrix
3. #* Inkjet

4. # Daisywheel
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Options :
1. ¥ Ao
2. % gl Axforg
3. ¥ ghoie

4, % SSfiqgiar
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following does NOT represent a barcode reader type?

Options :

1. # Camera-based readers
2. ¥ Biometric scanners

3. # Video camera readers

4. # Large field-of-view readers
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :

1. ¥ HAR-ITYRIA P2
2. ¢ SRR S bR
3. ¥ drefl v IR

4, ¥ AR thics-3Hh-gg Fex
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Which of the following is a method that refers to fooling a biometric identity management system,

where a counterfeit mold is presented in front of the biometric scanner?

Options:

1. % Biometric cloning

2. % Biometric hazards
3. ¥ Biometric spoofing

4. # Biometric hacking
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Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ graAcRfe deHf
2. ® g §9RS
3. ¢ ST it

4. % SRR B

Question Number : 14 Question Id : 25498931054 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
In MS-PowerPoint, is used to customize how your presentation will look as a printed handout?

Options :

1. % Handout Master
2. * Slide Master

3. * Notes Master

4. % Reading View
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Options :



1. ¥ §3-3M13C AR
2. ¥ gelss AEKR
3. ¥ dicg AR

4. % dsfrag
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What is the data transfer rate of USB 2.0 at a high speed mode?

Options :

1. % 450 mbps
2. ¥ 480 mbps
3. # 400 mbps

4. % 680 mbps
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Options :

1. % 450 mbps
2. ¥ 480 mbps
3. ¥ 400 mbps

4, # 680 mbps



Question Number : 16 Question Id : 2549898787 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
assigns IP addresses to the client connected to the internet.

Options :

1. ¥ Dynamic Host Configuration Protocol (DHCP)
2. * Address Resolution Protocol (ARP)

3. # Internet Protocol (IP)

4. % Remote Procedure Call (RPC)
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Options :

1. ¢ S-S BIE PIHIRRM GRIcihie (DHCP)
2. % g AT qRIcIhle (ARP)

3. ¥ gee Wictenid (IP)

4. % ftite REASR wiet (RPC)
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Correct Marks : 1 Wrong Marks : 0



In Microsoft PowerPoint, to delete a placeholder, click the border of the placeholder and then

press

Options :
1. % Enter
2. ¥ Delete
3. ® Shift

4. % Ctrl
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Options :

1. # Enter
2. ¥ Delete
3. # Shift

4. % Ctrl

Question Number : 18 Question Id : 2549899544 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What is the full form of AIO printer?

Options :

1. % Alternate Input Output



2. ¥ Active Ink Output
3. #* All Ink Output

4. % AllIn One
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Options :

1. ¥ Alternate Input and Output (37cTe3A< YL TS 3T3TYL)

2. ® Active Ink Output (Yahefa 3eh 31T3eye)
3. ¥ All Ink Output (31Tl ek 3TICYL)

4.+ All In One (31TeT 39 &)

Question Number : 19 Question Id : 25498910865 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The initial name of the PowerPoint software program is -

Options :

1. % Demonstrator
2. ¥ Presenter

3. * Transistor

4. % Animator
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Options :

1. ¥ UREIH ( Demonstrator)

2. ¢ RYJdRT (Presenter)

3. # IjSIf¥Eex (Transistor)

~ N

4. % gafdex (Animator)

Question Number : 20 Question Id : 25498911230 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In HTML, attribute adds audio controls, like play, pause and volume.

Options :
1. % src

2. #® audio
3. % source

4.+ controls
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Options :
1. % Src

2. % 3irsfat
3. % Ry

4. sheTE

Question Number : 21 Question Id : 25498913427 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
To end the slide show in a PowerPoint presentation, press key from the keyboard.

Options :
1. % Enter
2. ¥ Esc

3. ® Shift

4. % Delete
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Options :
1. * Enter
2. ¥ Esc

3. # Shift



4. % Delete

Question Number : 22 Question Id : 25498913503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
images can be easily converted to images.

Options :

1. % Vector, raster
2. ¥ Vector, faster
3. % Raster, vector

4. % Raster, faster

Question Number : 22 Question Id : 25498913503 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ doher, IR

2. ® d, HIER

3. ® IR, IRX

4. % IR, BEXR

Question Number : 23 Question Id : 25498913842 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
The is the physical component that make up your computer system.

Options:

1. % hardware

2. % operating system
3. * software

4. % device driver
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Options :
1. ¢ BRSIW
2. ¥ Jfuef af¥en

3. ¥ gltheddR

N

4. ¥ Ay S8R

~

Question Number : 24 Question Id : 25498918509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Windows operating system was developed by

Options :

1. * Apple



2. ¥ Microsoft Corporation
3. # Windows

4. % Google

Question Number : 24 Question Id : 25498918509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Apple

2. ¥ Microsoft Corporation
3. * Windows

4. % Google

Question Number : 25 Question Id : 25498922650 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is an audio signal given out by a computer to announce the result of a short diagnostic
testing sequence the computer performs when first powering up called the Power-On-Self-Test

or POST.

Options:
1. ¥ A beep code
2. ¥ A hamming code

3. * A hamming noise



4, * A noise

Question Number : 25 Question Id : 25498922650 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ flu s

2. % gl @re

3. # guf ek

4. % R

Question Number : 26 Question Id : 25498924072 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Earcons are related to

Options :

1. % pictures

2. ¥ audio/sound
3. * files

4. * folders

Question Number : 26 Question Id : 25498924072 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. % AR
2. ¢ Jifeft [ gaAf”
3. % higel

4. % e

N

Question Number : 27 Question Id : 25498924312 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A is a special function/command that a program uses to communicate with the kernel of

the operating system.

Options :

1. % user program
2. % system program
3. ¥ system call

4. % shell

Question Number : 27 Question Id : 25498924312 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
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Options :

1. % ISR IR
2. % Gfed RE
3. ¢ af¥ed ofad

4. % T

Question Number : 28 Question Id : 25498924457 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The system partition is the partition that is used as the active boot partition.

Options :

1. % primary
2. ¥ secondary
3. # extended

4. * basic
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Options:

1. ¢ WruHAfH



4, % IMYRfh

Question Number : 29 Question Id : 25498924592 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
A file with the file extension is a Windows Registry file.

Options :
1.4 reg
2. * .rga
3. % .rge

4. % rag
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Options :
1.+ .reg
2. % rga
3. % .rge

4. % .rag

Question Number : 30 Question Id : 25498940433 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an example of a multi-user operating system?

Options:

1. * Windows XP
2. % Linux

3. * Windows 7

4. ¥ MS-DOS

Question Number : 30 Question Id : 25498940433 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. * Windows XP
2. % Linux

3. ¥ Windows 7

4. ¥ MS-DOS

Question Number : 31 Question Id : 2549896405 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The World Wide Web is composed of:

Options :

1. # 1 page

2. * only 100 web pages



3. ¥ only 500 web pages

4. + millions of web pages

Question Number : 31 Question Id : 2549896405 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 10
2. ¥ haet 100 99 U
3. ¥ &g 500 A9 O

4. At A9 Ut

Question Number : 32 Question Id : 2549896645 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
While sending a file or message on the internet, it is divided into very small parts known as:

Options :

1. % point
2. * particle
3. % pin

4. ¥ packet

Question Number : 32 Question Id : 2549896645 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ Oigqe
2. % yRrefahe
3. % ufq

4. Gane

Question Number : 33 Question Id : 2549896886 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Electronic commerce involving individuals selling to individuals is known as

Options :
1. % B2B
2. % C2C
3. % A2C

4. = B2A

Question Number : 33 Question Id : 2549896886 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :



1. % B2B
2.¥ C2C
3. % A2C

4. % B2A

Question Number : 34 Question Id : 2549897017 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a means of personal communication on the internet?

Options :

1. % Chat

2. * Instant messaging
3. ¥ Instanote

4. % Electronic mail

Question Number : 34 Question Id : 2549897017 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % I

2. ¥ dqdc Ao
3. ¢ gqgHe

4. % At A

B



Question Number : 35 Question Id : 2549898345 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In MS-Word, which of the following type of margin is used to add extra space to different margins

of a document if you plan to bind it.

Options:

1. #* Portrait
2. ¥ Gutter
3. % A4

4. % Next Page

Question Number : 35 Question Id : 2549898345 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ URQE
2. ¥ TR

3. % A4

4. % Jonge U

NN

Question Number : 36 Question Id : 25498910445 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

In MS-Word, we can change the capitalisation of selected text in a document by clicking a single

button on the Home tab called

Options :

1. % Change Case
2. % Grow Font
3. * Shrink Font

4. % Case Change

Question Number : 36 Question Id : 25498910445 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:
1. IS g
2. ¥ RBHC
3. ¥ Rfdh i

4. % &g I

Question Number : 37 Question Id : 25498910679 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which section break can change the number of columns without starting a new page?

Options :



1. * Next page
2. ¥ Continuous
3. * Even page

4. % 0dd page

Question Number : 37 Question Id : 25498910679 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ dnge Uul

Question Number : 38 Question Id : 25498911052 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What is the most common extension for fonts?

Options :
1.9 ttf
2. % exe

3. # rtf



Question Number : 38 Question Id : 25498911052 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1.9 ttf
2. % .exe
3. % rtf

4, # pdf

Question Number : 39 Question Id : 25498911786 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
ASCII stands for:

Options:

1. ¥ American Stable Code for International Interchange
2. ¥ American Standard Code for Institutional Interchange
3. ¥ American Standard Code for Information Interchange

4. # American Standard Code for Interchange Information

Question Number : 39 Question Id : 25498911786 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ® American stable code for international interchange (3Rfch T F2aeT IS ik AR 2ol

2. ¥ American standard code for institutional interchange (3/Rfch FEUERE hl€ ®R H I
EECN))

3. ¥ American standard code for information interchange (3R FEUTEE e ik HHRAA
HASIE)

4. ¥ American standard code for interchange information (3eRfeh H2UTETE hl€ TR FeTra

STHIRARM)

Question Number : 40 Question Id : 25498925211 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
ISP stands for:

Options :

1. ¢ Internet Service Provider
2. ¥ Internet Self Provider

3. # Internet Service Provide

4. % Internet Start Provider

Question Number : 40 Question Id : 25498925211 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
ISP T URT T4 HAT 8?2

Options:

1. ¢ Internet Service Provider (3e3c IXaf RIAEE)



2. ¥ Internet Self Provider (3¢ 9t GRIATS<R)

3. ¥ Internet Service Provide (¢3¢ IXaf TRATES)

4. ¥ Internet Start Provider (3e3-¢ 9<RE ISR

Question Number : 41 Question Id : 25498925302 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the correct shortcut key to close the active document in MS-Word.

Options :

1. % Ctrl+F3
2. ¥ Ctrl+F4
3. ® Ctrl+F5

4. #® Ctrl+F6

Question Number : 41 Question Id : 25498925302 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Ctrl+F3
2. ¥ Ctrl+F4
3. # Ctrl+F5

4. * Ctrl+F6



Question Number : 42 Question Id : 25498933791 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following types of files can be used for composing letters, flyers, essays, and other

text-based files in Google Drive?

Options :
1. #* Sheets
2. ¥ Docs
3. # Slides

4. * Books

Question Number : 42 Question Id : 25498933791 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % ffeg
2. ¥ Slg
3. % Helssy

4, % ggdsh

Question Number : 43 Question Id : 25498938421 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



With mail service, you can select the email domain name that will suit you best from over
200 domain names e.g. yourname@consultant.com, yourname®@journalist.com,

yourname@engineer.com, yourname@lawyer.com, and the default one is yourname@mail.com.

Options :

1. * gmail.com
2. ¥ mail.com

3. # outlook.com

4. * aol

Question Number : 43 Question Id : 25498938421 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # gmail.com
2. ¥ mail.com

3. ¥ outlook.com

4. % gol

Question Number : 44 Question Id : 25498941472 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify which one is NOT a workbook view in MS-Excel.

Options :



1. % Page Layout
2. % Custom Views
3. ¥ Pivot View

4. % Page Break Preview

Question Number : 44 Question Id : 25498941472 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Uga™ df MS-Excel & bl AT shagEd o g1 (workbook view) =gt &1

Options :

1. # o9 @temmse (Page Layout)
2. % HygH g7 (Custom Views)
3. ¢ urgale g (Pivot View)

4. % US ¥ qi9g. (Page Break Preview)

Question Number : 45 Question Id : 25498941481 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Excel, a formula always starts with the symbol.

Options :

4. %



Question Number : 45 Question Id : 25498941481 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

4, % 1

Question Number : 46 Question Id : 25498941488 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If cell B5 contains Friday, the formula '=IF(B5="Sunday","Rest",IF(B5="Saturday","Party","Work"))

will result in

Options :
1. * Error
2. % Party
3. * Rest

4. % Work



Question Number : 46 Question Id : 25498941488 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tef 8ot B5 & Friday 8, df REeT ‘=IF(B5="Sunday","Rest" IF(B5="Saturday","Party","Work"))’ & t=foms
T g

Options :
1. % Error
2. * Party
3. # Rest

4.+ Work

Question Number : 47 Question Id : 25498941490 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The name of a range in MS-Excel worksheet CANNOT contain

Options :

1. ® a character
2. # anumber
3. ¥ aspace

4. % an underscore

Question Number : 47 Question Id : 25498941490 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. % oo
2. % vz

3. v i

Question Number : 48 Question Id : 25498941499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Developer option can be enabled in MS-Excel from the option in Excel Options.

Options :

1. * Advanced

2. ¥ Customize Ribbon
3. * Language

4. #* Proofing

Question Number : 48 Question Id : 25498941499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. ® gsaigs
2. ¢ HycHES Ao

3. ¥ e



4, % AT

Question Number : 49 Question Id : 25498941547 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In MS-Excel, the predefined header to display the name of the worksheet is

Options :

1. % &[File]
2. * &[Page]
3. # &[Pages]

4. ¥ &[Tab]

Question Number : 49 Question Id : 25498941547 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel #, ReAME T T TR i & A0 TRIARYURIA Uk g 8
Options :

1. # &[File]

2. % &[Page]

3. % &[Pages]

4, ¥ &[Tab]

Question Number : 50 Question Id : 25498941550 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Which of the following is a function with exactly one argument in MS-Excel?

Options:

1. * DATE
2. % IF

3. ¥ LOWER

4. * NOW

Question Number : 50 Question Id : 25498941550 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. = DATE
2. ®¥ IF

3. % LOWER

4. % NOW

Question Number : 51 Question Id : 25498941556 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Excel, the PI function returns the value of pi, accurate to digits.

Options :



3. %12

4. 15

Question Number : 51 Question Id : 25498941556 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

3. %12

4. 15

Question Number : 52 Question Id : 25498941558 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Ctrl + Spacebar is a keyboard shortcut used to select the in MS-Excel.

Options :

1. % adjacent cell
2. ¥ entire column
3. % entire row

4. % |ast used cell in a row

Question Number : 52 Question Id : 25498941558 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel #, Ctrl + Spacebar @hl-gkg 21Reehe sl IUTNT I T A & T AT ST 8|
Options :
1. ® qfcheqy Ao

2. ¥ HUUT ehlelH
3. % guRur

4. % A 7 A qRgend del
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: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions.

‘Buddham, Sharanam, Gachchami’ echoed through the air whenever and wherever the Buddha
passed by. He was followed by crowds of devotees chanting the mantra, which meant T seek
refuge in the Buddha'. As the Buddha grew in years and influence, his followers increased by
thousands. Rich noblemen gave up their life of comfort and riches and became bhikshus
wandering and begging for alms. They found the teachings of the Buddha a great source of inner

peace.

Devadatta, a cousin and disciple of the Buddha, grew jealous of the power that the Buddha had
over people. Lust for power and the secret desire to replace the Buddha as the leader, blinded
Devadatta. He knew that as long as the Buddha was alive, he could not set himself up as the

leader of the order. So he secretly plotted to put an end to the Buddha'’s life.

He thought of a plan to fulfill his desire. Nalagiri, King Ajatshatru’s elephant, was a fierce animal.
He was known to have trampled armies under his foot. He was always kept in chains under strict
supervision. Devadatta gave money to one of the caretakers of Nalagiri to let loose the elephant
when the Buddha passed by Ajatshatru’s palace. As Nalagiri ran after the crowd in anger, there
was panic on the roads. Those of low faith left the Buddha and ran away to save their own lives.
The faithful ones remained, ready to stake their lives for the Master. Cries of terror were heard

everywhere.

In the midst of all this excitement, the Buddha was calm as ever. His face was glowing with the
light of kindness and love. As the Buddha saw the elephant approaching, he spoke to his disciples.
"Fear not, my brothers! He who harms none, will be harmed by no one." The elephant came
nearer. Everyone held their breath in fear. The Buddha spoke to the elephant gently. He patted his
trunk with love. Nalagiri knelt down before him in respect. The crowd was amazed. The fierce
animal had suddenly changed into a tame and gentle animal. He, who could not be conquered by

power, had been conquered by love.

Sub questions



Question Number : 53 Question Id : 25498921320 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Rich noblemen gave up their luxurious life because they:

Options :

1. # were growing old

2. * wanted to wander around begging for alms
3. ¥ wanted inner peace

4. % were bored of comfort and riches

Question Number : 54 Question Id : 25498921321 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Devadatta was jealous of the Buddha's:

Options :

1. # leadership qualities

2. ¥ power to win over people

3. ¥ widespread fame and popularity

4. *# increasing number of disciples

Question Number : 55 Question Id : 25498921322 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Nalagiri was kept in chains because he was a:



Options :

1. #* sick elephant

2. #® trained elephant
3. # gentle animal

4. + fierce animal

Question Number : 56 Question Id : 25498921323 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
People held their breath in fear because:

Options :

1. # they feared for their lives

2. * there was panic on the roads

3. ¥ Nalagiri was approaching the Buddha

4. ¥ they lacked faith in the Buddha

Question Number : 57 Question Id : 25498921324 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Buddha was able to tame the fierce Nalagiri:

Options :
1. # through the power of love
2. * by using force

3. # by using his magical powers

4.



# with the help of the king's guards

Question Id : 25498921319 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
AT gl 7 oft 3o aferafargyer Sew o1 qamT aat R <R

Options:

1. % HAIR A 81 B &

2. ¥ pgichf & WfhNTed AT TT8d &
3. ¢ ogienf g ricRfeh riaf Tmgd &

4. % epgichi d ARSI 3R AfMHATYLOT Sita d Hel Yeh o
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:N.A Think Time : N.A Minimum Instruction Time : 0
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Question Number : 55 Question Id : 25498921322 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ oyl g U AR greft o1



2. % THgichi ag Jeh YRRTTehwia gredt o
3. ¥ pyichf g8 Yk Tolo Ul AT

4. gkl g8 Teh g U AT
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Options :
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:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What should come in place of the question mark (?) in the following?
(2%3)%+(4x9)?x (27 x 8)? = (6)°

Options :



Question Number : 58 Question Id : 25498928878 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
AT 9o & 9o REa (?) & T W #ia O &I M

(2%3)*= (4% 9)2 X (27 X 8)2 = (6)’

Options :

1.4 9

2. % 6

Question Number : 59 Question Id : 25498928945 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Manish bought 25 kg of rice at ¥32 per kg and 15 kg of rice at ¥36 per kg. What profit did he get

when he mixed the two varieties together and sold it at ¥40.20 per kg?

Options :
1. % 25%

2. % 40%

3.



* 30%

4. % 20%

Question Number : 59 Question Id : 25498928945 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

| % 25%

5> % 40%

3 % 30%

4 v 20%

Question Number : 60 Question Id : 25498929015 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What approximate value will come in place of the question mark (?) in the given question?
(You are not expected to calculate the exact value.)

(41.99° — 18.04%) + 7=13.11* — 138.99

Options :

1.4 48

2.



® 12
3. %72

4. % 84

Question Number : 60 Question Id : 25498929015 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fArafofes T & TAfed (7) & TR T e A 0 @A AG0? (0 G A e A
HETH 7 8)

(41.99% - 18.042) = 7 = 13.112 - 138.99

Options :

1.v 48
5 % 12
3. % 712
4. % 84

Question Number : 61 Question Id : 25498929116 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the average number of students studying different disciplines from Institute E?



Discipline | Art | Commerce | Science | Management | Computer
Institute Science
A 350 260 450 | 140 300
B 240 | 320 400 180 320
C 460 | 300 360 160 380
D 440 | 480 420 120 340
E 280 | 360 340 200 330
Options :
1. % 312
2. % 310
3.+ 302
4, ® 304

Question Number : 61 Question Id : 25498929116 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
gféarerd E § afufAm aftat et ug aret afearufdt st siaa dwar «an 82

IECUICE] EGICH
A 350 260 450 140 300
B 240 320 400 180 320
C 460 300 360 160 380
D 440 480 420 120 340
E 280 360 340 200 330
Options :
1 % 312

5 % 310



3 v 302

4 % 304

Question Number : 62 Question Id : 25498929471 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the pair of equations 2x + 3y = 7 and (a — b)x + (a+ b)y — (3a + b — 2) = 0 has infinitely many solutions,
then the value of 3a — 5b is:

Options:

0

1. %

10

5 % 18

20

Question Number : 62 Question Id : 25498929471 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g FHAFN & JoH 2x + 3y = 7 AR (a-b)x + (@ + b)y- Ba +b-2) = 0
% ¥d g &, af 3a-5b F AR FAT g

Options :

1.% 9



2.v 10
5 % 18

4 % 20

Question Number : 63 Question Id : 25498929476 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In an arithmetic progression, 100% term is 5—10 and 50% term is ﬁ 5000% term of the progression will be:
Options:

1
1. % 5000

2. % 5000

Question Number : 63 Question Id : 25498929476 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1

1. % 5000

5 % 5000

3.2 0

4. 1
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:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third term in the same way as the second term is related to

the first term.

Vestry : Church :: Dispensary : ?
Options:

1. ® Laboratory

2. ¥ Hospital

3. #* School

4. # Monastery

Question Number : 64 Question Id : 25498910143 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
gfcheldt & T I UGG I TI hISIQ ST IR e & I RepR Feafd 8, ST qRehR @RI G gt eg & deefd
gl

I ;AT ;- ; SREE : ?
Options :

1. % gL

2. ¢ gfchfqarera

3. ¥ gfegrer™

4. % 78



Question Number : 65 Question Id : 25498912923 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Study the letter-series given below and answer the question that follows:

HDYSMWNBQPOCRTBLZVEGUF

Which letter has the same neighbors as in the alphabetical order though they have changed

places?

Options :

Question Number : 65 Question Id : 25498912923 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1=t &1 718 STeRR- T T YFYh HYTTT e 3R ITY Heefd TR hl IqR 2|

HDYSMWNBQPOCRTBLZVEGUF
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g?

Options :



3.%Q

Question Number : 66 Question Id : 25498918991 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The following sentence has the first word and the last word left out. Choose the pair from among
the four pairs of words that will fill the blanks so that the sentence becomes true and sensible.

Only one pair is correct.

is to Horse as Chauffeur is to

Options :

1. ¥ Mane - Uniform

2. * Mane - Owner

3. % Stable - Limousine

4. ¥ Jockey - Auto

Question Number : 66 Question Id : 25498918991 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 30T - UIATeh



2. % 31Tl - garHt
3. ¥ Irydad - dAfHTSiA

4. ¥ gEHaR - il

Question Number : 67 Question Id : 25498919889 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In each of the following, four words have been given, out of which three are alike in some manner,

while the fourth one is different. Choose out the odd one.

Options :

1. % Gangtok

2. ¥ Singhbhum
3. ¥ Hyderabad

4. * Chennai

Question Number : 67 Question Id : 25498919889 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® Tcih
2. ¢ TfgyH
3. ¥ gXEg

4, % I3

~



Question Number : 68 Question Id : 25498939844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Four words have been given out of which three are alike in some manner, while the fourth one is

different. Choose out the odd one.

Options:

1. # Birbal

2. * Abul fazal
3. # Tansen

4.+ Faiz ahmed

Question Number : 68 Question Id : 25498939844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ §Ree
2. ¥ Irgethord
3. ¥ g=Eq

4. & Bl IEHS

Question Number : 69 Question Id : 25498939946 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Six statements are given below, followed by options consisting of three of these statements put
together in a specific order. Choose the option that indicates a valid argument containing logically
related statements, that is, where the third statement is a conclusion drawn from the preceding

two statements.

A: All cushions are pillows.

B: Some pillows are sheets.

C: Some sheets are cushions.

D: Some pillows are not cushions.
E: All pillows are sheets.

F: No pillows are sheets.

Options :
1. % ABC
2. % BCD
3. % EAC

4. = EDC

Question Number : 69 Question Id : 25498939946 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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D: ®® dh(d, AES et &



E: 9+ft 9l Tgez &
F: ots ot qonfaT, Igex -1et 81

Options :
1. % ABC
2. % BCD
3. ¥ EAC
4. % EDC
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Shimsha Hydroelectric station is located in:

Options :

1. % Karnataka

2. #* Andhra Pradesh
3. ®* Tamil Nadu

4. * Kerala

Question Number : 70 Question Id : 2549895345 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ hEh
2. % 3fieR Uz

3. ¥ gAferTg

4. % &3

Question Number : 71 Question Id : 25498912791 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Durand Cup is associated with:

Options :

1. % Hockey



2. % Table Tennis
3. % Football

4. % Cricket

Question Number : 71 Question Id : 25498912791 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % gt

2. % ga Ay
3. ¢ ppedict

4. % grfche

~
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Amjad Ali Khan is associated with which of the following musical instruments?

Options :
1. # Violin
2. % Sitar
3. ¥ Sarod

4, # Veena



Question Number : 72 Question Id : 25498932026 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ® qEga
2. % gfar
3. ¥ Wig

4. % don

Question Number : 73 Question Id : 25498932109 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In the context of global economy, which of the following pairs is NOT correctly matched?

Options :

1. * JP Morgan : Financial Services Chase
2. ¥ Roche Holding : Financial Services AG
3. ®* WL Ross & Co : Private Equity Co. Firm

4. ® Warburg Pincus : Private Equity Firm

Question Number : 73 Question Id : 25498932109 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % Sy 5re ; afdta dand 3w
2. ¢ 4 giereh : afddta dard geit

[l

3. ¥ Segud IY U ShuHT ; AR Serafdt shu-t tA

4, % IRE7T Ul ; AR geRafd wm
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: N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following is the source of income for the Gram Panchayats?

Options :

1. % Income Tax

2. % Sales tax

3. * Professional Tax

4. + Levy duties

Question Number : 74 Question Id : 25498933639 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. ¥ 3mMgeR (Income Tax)

2. % gfod o (Sales Tax)

3. ¥ gqdf e (Professional Tax)



4. & M@l etk (Levy Duties)

Question Number : 75 Question Id : 25498935897 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Calcium decomposes water and liberates:

Options :

v T2
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Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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Creating a logo for a company allows them the opportunity to speak to their customers and



potential customers in an artistic and visually stimulating way. A logo can give consumers
an idea of the personality of their business and make their brand instantly recognizable
without the use of words or the company name. Ideally a logo should represent a company
or organization accurately enough that the viewer needs nothing else to identify their
brand. Any organization that wishes to communicate to an audience can benefit from a logo
to more clearly and succinctly convey a short and simple message. The logo should be
printed on all the promotional materials and business cards. It should be on the website of
the company and should be attached to all company emails. The logo should be visible on all
exterior store signage and within the stores as well. A logo is an important part of the
marketing and image of a company because it immediately conveys to the viewer the
mission and values of a company. It keeps the company ever present in the mind of the
consumer when it is easily recognized and used consistently on all company advertising and
communications. A logo may mean the difference between a customer remembering the
brand or forgetting it. The logo of a company can be as important as its name. An effective
logo differentiates a business from their competition and creates a favourable first
impression that is reinforced over time. A logo identifies the brand and establishes it in the
minds of consumers. The Nike swoosh and the classic script of Coca Cola as well as the four
colour wavy window of Microsoft are all examples of brands that have had a huge impact on
the worldwide markets. The logos themselves did not make these companies successful but
the image of the company logo instantly reminds consumers of the entire message and
personality of the brand itself. They have indelibly imprinted their logos on consumers
consciousness by heavily and steadily promoting them. A logo adds a visual image that
people automatically associate with the company. It is important to incorporate the name
of the company and possibly the marketing slogan into the logo design so that consumers
learn to associate them with your logo. Logos can define the personality of a company which
in turn can make it more attractive to consumers. A logo featuring a friendly cartoon
character or cute animal can make consumers feel at ease and develop a sense of trust in
their company even before they ever have done business with them. A brightly coloured or
uniquely designed logo can project an air of originality and innovation. A company can
enhance their ability to establish an Internet presence with a distinctive logo. They might
only have a second or two to catch the attention of people surfing the Internet so a creative
logo is important to keeping viewers from moving to another site. A company encourages
people to associate their marketing message with their logo and by extension with their

business by including their logo in advertising vehicles such as flyers and Internet banner



ads. Distributing promotional products emblazoned with their logo such as pens and coffee

mugs and bumper stickers can be an effective part of their marketing efforts.
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